A GRÜSS-TYPE INEQUALITY AND ITS APPLICATIONS

SAICHI IZUMINO, JOSIP E. PEČARIĆ, AND BOŽIDAR TEPEŠ

Received 7 August 2003

We give a Grüss-type inequality which is a refinement of a result due to Dragomir and Agarwal. We also give its applications for the moments of random variables, guessing mappings, and Ozeki's inequality.

1. Introduction

Let $a = (a_1, ..., a_n)$, $b = (b_1, ..., b_n)$ be *n*-tuples (sequences) of real numbers and let $p = (p_1, ..., p_n)$ be an *n*-tuple of positive numbers. Then (discrete) Grüss' inequality is an estimation of the difference

$$I(a,b;p) := P_n \sum_{i=1}^n p_i a_i b_i - \sum_{i=1}^n p_i a_i \sum_{i=1}^n p_i b_i,$$
(1.1)

where $P_n = \sum_{i=1}^n p_i$.

If both a and b are assumed to be nondecreasing (or nonincreasing), that is,

$$a_1 \le \dots \le a_n, b_1 \le \dots \le b_n \quad \text{(or } a_1 \ge \dots \ge a_n, b_1 \ge \dots \ge b_n\text{)},$$
 (1.2)

then the above difference I(a,b;p) is nonnegative, that is,

$$P_n \sum_{i=1}^{n} p_i a_i b_i \ge \sum_{i=1}^{n} p_i a_i \sum_{i=1}^{n} p_i b_i.$$
 (1.3)

This is well known as Čebyšev's inequality [10, page 240]. As a complement of this inequality, one of the authors proved the following theorem.

THEOREM 1.1 [11, Theorem 8], [10, page 302]. Let a, b be nondecreasing (or nonincreasing) n-tuples of real numbers and let p be an n-tuple of positive numbers. Then

$$|I(a,b;p)| \le |a_n - a_1| |b_n - b_1| \max_{1 \le i \le n-1} P_j(P_n - P_j),$$
 (1.4)

where $P_j = \sum_{k=1}^j p_k$.

Copyright © 2005 Hindawi Publishing Corporation Journal of Inequalities and Applications 2005:3 (2005) 277–288 DOI: 10.1155/JIA.2005.277 Without any assumption of monotonicity on *n*-tuples *a* and *b*, the following extension of Theorem 1.1 was given by D. Andrica and C. Badea.

THEOREM 1.2 [1, Theorem 2]. Let a, b be n-tuples of real numbers satisfying

$$m_1 \le a_i \le M_1, \quad m_2 \le b_i \le M_2 \quad (i = 1, ..., n),$$
 (1.5)

and let p be an n-tuple of positive numbers. Then

$$|I(a,b;p)| \le (M_1 - m_1)(M_2 - m_2) \max_{J \subseteq I_n} P(J)(P_n - P(J)),$$
 (1.6)

where $I_n = \{1, ..., n\}$ and $P(J) = \sum_{i \in J} p_i$ for $J \subset I_n$ (cf. $P_n = P(I_n)$).

There are a number of further results concerning (discrete or integral type) Grüss inequalities with or without monotonicity conditions on n-tuples a and b [2, 5, 7, 8, 9, 12], and so forth. (See [10, Chapter X].)

Recently, Dragomir and Agarwal [3] (or Dragomir and Diamond [4]) presented a general Grüss-type inequality for complex *n*-tuples in terms of the first differences of them.

THEOREM 1.3 [3, Theorems 22 and 23], [4, Theorems 4 and 5]. Let a, b be n-tuples of complex numbers and let p be an n-tuple of positive numbers such that $\sum_{i=1}^{n} p_i = 1$, that is, p is a probability distribution. Then

|I(a,b;p)|

$$\leq \begin{cases} \max_{1 \leq k \leq n-1} |a_{k+1} - a_k| \cdot \max_{1 \leq i \leq n} |b_i| \cdot \sum_{i,j=1}^n p_i p_j |i-j|, \\ n^{1/s} \max_{1 \leq k \leq n-1} |a_{k+1} - a_k| \cdot \left(\sum_{i=1}^n |b_i|^s\right)^{1/s} \left(\sum_{i,j=1}^n p_i^q p_j^q |i-j|^q\right)^{1/q} & \left(s, q > 1, \frac{1}{s} + \frac{1}{q} = 1\right), \\ n \max_{1 \leq k \leq n-1} |a_{k+1} - a_k| \cdot \sum_{i=1}^n |b_i| \cdot \max_{1 \leq i,j \leq n} p_i p_j |i-j|, \end{cases}$$

|I(a,b;p)|

$$\begin{cases}
\max_{1 \le k \le n-1} |a_{k+1} - a_{k}| \cdot \max_{1 \le i \le n} p_{i} |b_{i}| \cdot \sum_{i,j=1}^{n} p_{i} |i-j|, \\
\max_{1 \le k \le n-1} |a_{k+1} - a_{k}| \cdot \left(\sum_{i=1}^{n} p_{i} |b_{i}|^{s}\right)^{1/s} \left(\sum_{i,j=1}^{n} p_{i} p_{j} |i-j|^{q}\right)^{1/q} \quad \left(s, q > 1, \frac{1}{s} + \frac{1}{q} = 1\right), \\
\left(n-1\right) \max_{1 \le k \le n-1} |a_{k+1} - a_{k}| \cdot \sum_{i=1}^{n} p_{i} |b_{i}|.
\end{cases} \tag{1.7}$$

In [3], the following inequality was basically used as a key fact to obtain Theorem 1.3:

$$|I(a,b;p)| \le \max_{1 \le k \le n-1} |\Delta a_k| \cdot \sum_{i,j=1}^n p_i p_j |i-j| |b_i|,$$
 (1.8)

where $\Delta a_i = a_{i+1} - a_i \ (i = 1, ..., n-1)$.

In this paper, with the notations

$$P_j = \sum_{k=1}^{j} p_k, \quad \bar{P}_{j+1} = 1 - P_j \quad (j = 1, ..., n-1)$$
 (1.9)

for a probability distribution p, (further, conveniently putting $P_0 = \bar{P}_{n+1} = 0$ and $\Delta a_0 = \Delta a_n = 0$), we prove a fundamental identity

$$I(a,b;p) = \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_j \Delta a_j - \sum_{j=i}^{n} \bar{P}_{j+1} \Delta a_j \right) p_i b_i, \tag{1.10}$$

which brings a stronger inequality (than (1.8), cf. Remark 2.4)

$$|I(a,b;p)| \le \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_j |\Delta a_j| + \sum_{j=i}^{n} \bar{P}_{j+1} |\Delta a_j| \right) p_i |b_i|.$$
 (1.11)

Using the above identity and inequality, we give our main results (Theorems 2.3 and 2.6) as refinements of Theorem 1.3. We also give some applications for the moments of discrete random variables, for guessing mappings considered in [3, 4], and for Ozeki's inequality related to [6, 7, 8].

2. Grüss-type inequalities

We prepare two useful facts before we give the main results. Recall that for n-tuples a, b and a probability distribution p, we write (cf. (1.1))

$$I(a,b;p) = \sum_{i=1}^{n} p_i a_i b_i - \sum_{i=1}^{n} p_i a_i \sum_{i=1}^{n} p_i b_i.$$
 (2.1)

For this difference we have the following lemma.

LEMMA 2.1.

$$I(a,b;p) = \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_j \Delta a_j - \sum_{j=i}^{n} \bar{P}_{j+1} \Delta a_j \right) p_i b_i.$$
 (2.2)

Proof. First, by definition,

$$I(a,b;p) = \sum_{i=1}^{n} p_i a_i b_i - \sum_{j=1}^{n} p_j a_j \sum_{i=1}^{n} p_i b_i = \sum_{i=1}^{n} \left(\sum_{j=1}^{n} p_j (a_i - a_j) \right) p_i b_i.$$
 (2.3)

Next, note the following fact which is an extension of Abel's identity for a sequence $c_1,...,c_n$ with $\Delta c_j = c_{j+1} - c_j$ for j = 1,...,n-1 (and conveniently putting $\Delta c_0 = \Gamma c_n = 0$):

$$\sum_{j=1}^{n} p_{j} c_{j} = c_{i} - \sum_{j=0}^{i-1} P_{j} \Delta c_{j} + \sum_{j=i}^{n} \bar{P}_{j+1} \Delta c_{j} \quad (i = 1, ..., n).$$
 (2.4)

Putting $c_j = a_i - a_j$ in the above identity, we have

$$\sum_{j=1}^{n} p_{j}(a_{i} - a_{j}) = (a_{i} - a_{i}) - \sum_{j=0}^{i-1} P_{j} \Delta(a_{i} - a_{j}) + \sum_{j=i}^{n} \bar{P}_{j+1} \Delta(a_{i} - a_{j})$$

$$= \sum_{j=0}^{i-1} P_{j} \Delta a_{j} - \sum_{j=i}^{n} \bar{P}_{j+1} \Delta a_{j}.$$
(2.5)

Hence from (2.3) and (2.5), we obtain the desired identity (2.2).

LEMMA 2.2 [10, page 14]. If a and p are positive n-tuples, then the function

$$M(r) = \begin{cases} \left(\frac{1}{P_n} \sum_{i=1}^{n} p_i a_i^r\right)^{1/r} & if \ r \neq 0, \\ \left(\prod_{i=1}^{n} a_i^{p_i}\right)^{1/P_n} & if \ r = 0, \\ \min\{a_1, \dots, a_n\} & if \ r = -\infty, \\ \max\{a_1, \dots, a_n\} & if \ r = \infty \end{cases}$$
(2.6)

is monotone increasing on $[-\infty, \infty]$ *.*

Now we give the following result as a refinement of Theorem 1.3.

THEOREM 2.3. Let a and b be n-tuples of complex numbers and let p be a probability distribution. Then

|I(a,b;p)|

$$\begin{cases}
\sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} | \Delta a_{j} | + \sum_{j=i}^{n} \bar{P}_{j+1} | \Delta a_{j} | \right) p_{i} | b_{i} |, \\
\leq \left\{ \sum_{i=1}^{n} \left[\left(\sum_{j=1}^{n} |i-j| p_{j} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} | \Delta a_{j} |^{q} + \sum_{j=i}^{n} \bar{P}_{j+1} | \Delta a_{j} |^{q} \right)^{1/q} \right] p_{i} | b_{i} | \quad (q > 1), \\
\max_{1 \leq k \leq n-1} | \Delta a_{k} | \cdot \sum_{i=1}^{n} \left(\sum_{j=1}^{n} |i-j| p_{j} \right) p_{i} | b_{i} |,
\end{cases}$$
(2.7)

Moreover, if R_1 , R_2 , and R_3 denote the right-hand sides of (2.7), successively from above to below, then

$$R_1 \le R_2 \le R_3.$$
 (2.8)

Proof. By Lemma 2.1, we immediately obtain

$$|I(a,b;p)| \le \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_j |\Delta a_j| + \sum_{j=i}^{n} \bar{P}_{j+1} |\Delta a_j| \right) p_i |b_i|,$$
 (2.9)

which is the first inequality in (2.7). To obtain the other inequalities, put

$$Q_i = \sum_{j=0}^{i-1} P_j + \sum_{j=i}^{n} \bar{P}_{j+1} \quad (i = 1, ..., n).$$
 (2.10)

Then from Lemma 2.2, we have, for q > 1,

$$\frac{1}{Q_{i}} \left(\sum_{j=0}^{i-1} P_{j} \left| \Delta a_{j} \right| + \sum_{j=i}^{n} \bar{P}_{j+1} \left| \Delta a_{j} \right| \right) \\
\leq \left\{ \frac{1}{Q_{i}} \left(\sum_{j=0}^{i-1} P_{j} \left| \Delta a_{j} \right|^{q} + \sum_{j=i}^{n} \bar{P}_{j+1} \left| \Delta a_{j} \right|^{q} \right) \right\}^{1/q} \\
\leq \max_{1 \leq i \leq n-1} \left| \Delta a_{j} \right|, \tag{2.11}$$

so that

$$\sum_{j=0}^{i-1} P_{j} |\Delta a_{j}| + \sum_{j=i}^{n} \bar{P}_{j+1} |\Delta a_{j}|$$

$$\leq Q_{i}^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} |\Delta a_{j}|^{q} + \sum_{j=i}^{n} \bar{P}_{j+1} |\Delta a_{j}|^{q} \right)^{1/q}$$

$$\leq \max_{1 \leq j \leq n-1} |\Delta a_{j}| Q_{i}.$$
(2.12)

For Q_i , we have, by an elementary computation,

$$Q_i = \sum_{j=1}^{n} |i - j| p_j.$$
 (2.13)

Hence from (2.9), (2.12), and (2.13), we obtain (2.8) and at the same time the second and the third inequalities in (2.7).

Remark 2.4. The inequality

$$\sum_{j=0}^{i-1} P_j |\Delta a_j| + \sum_{j=i}^{n} \bar{P}_{j+1} |\Delta a_j| \le \max_{1 \le j \le n-1} |\Delta a_j| \sum_{j=1}^{n} |i-j| p_j$$
 (2.14)

(immediately obtained from (2.12) and (2.13)) says that our basic inequality (2.9) is stronger than (1.8) which was used in [3, Theorem C].

Remark 2.5. If we define by F(q) the right-hand side of the second inequality in (2.7), then we see, by Lemma 2.2, that F(q) is an increasing function and $\lim_{q\to 1} F(q) \le F(q) \le \lim_{q\to\infty} F(q)$, which implies (2.8).

For positive *n*-tuples *a* and *b* with an assumption of monotonicity, we have the following theorem.

THEOREM 2.6. Let a and b be n-tuples of positive numbers and let p be a probability distribution. Assume that a is nondecreasing. Then

$$I(a,b;p) \leq \begin{cases} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} \Delta a_{j}\right) p_{i} b_{i}, \\ \sum_{i=1}^{n} \left[\left(\sum_{j=0}^{i-1} (i-j) p_{j}\right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} (\Delta a_{j})^{q}\right)^{1/q}\right] p_{i} b_{i} \quad (q > 1), \end{cases}$$

$$\max_{1 \leq k \leq n-1} \Delta a_{k} \cdot \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} (i-j) p_{j}\right) p_{i} b_{i},$$

$$(2.15)$$

(where conveniently $p_0 = 0$) and

$$I(a,b;p) \ge \begin{cases} -\sum_{i=1}^{n} \left(\sum_{j=i}^{n} \bar{P}_{j+1} \Delta a_{j}\right) p_{i} b_{i}, \\ -\sum_{i=1}^{n} \left[\left(\sum_{j=i}^{n} (j-i) p_{j}\right)^{1-1/q} \left(\sum_{j=i}^{n} \bar{P}_{j+1} (\Delta a_{j})^{q}\right)^{1/q}\right] p_{i} b_{i} \quad (q > 1), \\ -\max_{1 \le k \le n-1} \Delta a_{k} \cdot \sum_{i=1}^{n} \left(\sum_{j=i}^{n} (j-i) p_{j}\right) p_{i} b_{i}. \end{cases}$$

$$(2.16)$$

Moreover, as in Theorem 2.3, if R'_1 , R'_2 , and R'_3 denote (resp., R''_1 , R''_2 , and R''_3) the right-hand sides of (2.15) (resp., (2.16)), successively from above to below, then

$$R'_1 \le R'_2 \le R'_3 \quad (resp., R''_1 \ge R''_2 \ge R''_3).$$
 (2.17)

Proof. Since $\Delta a_i \geq 0$, we have

$$-\sum_{j=i}^{n} \bar{P}_{j+1} \Delta a_{j} \leq \sum_{j=0}^{i-1} P_{j} \Delta a_{j} - \sum_{j=i}^{n} \bar{P}_{j+1} \Delta a_{j} \leq \sum_{j=0}^{i-1} P_{j} \Delta a_{j},$$
 (2.18)

so that from Lemma 2.1 we obtain the first inequalities in (2.15) and (2.16). To see the remaining inequalities, note that the following identities

$$\sum_{j=0}^{i-1} P_j = \sum_{j=0}^{i-1} (i-j) p_j, \qquad \sum_{j=i}^n \bar{P}_{j+1} = \sum_{j=i}^n (j-i) p_j$$
 (2.19)

hold. From these and the first inequalities in (2.15) and (2.16), we can obtain all other desired inequalities by the similar argument as in the proof of Theorem 2.3.

3. Applications for the moments of random variables, guessing mappings, and Ozeki's inequality

Consider a discrete random variable

$$X: \begin{pmatrix} x_1, \dots, x_n \\ p_1, \dots, p_n \end{pmatrix}, \tag{3.1}$$

which takes positive values $x_1,...,x_n$ with a probability distribution $p = (p_1,...,p_n)$. Then the γ -moment $(\gamma > 0)$ of X is defined as the expectation $E(X^{\gamma})$, that is,

$$M_{\gamma}(X) = E(X^{\gamma}) = \sum_{i=1}^{n} p_i x_i^{\gamma}.$$
 (3.2)

An approximation result which compares $M_{\alpha+\beta}(X)$ ($\alpha,\beta>0$) with the product of $M_{\alpha}(X)$ and $M_{\beta}(X)$ was shown in [3, 4]. We here give an improvement of the result by applying Theorem 2.3.

Proposition 3.1. *Under the above assumptions*,

$$|M_{\alpha+\beta}(X)-M_{\alpha}(X)M_{\beta}(X)|$$

$$\sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} | \Delta x_{j}^{\alpha} | + \sum_{j=i}^{n} \bar{P}_{j+1} | \Delta x_{j}^{\alpha} | \right) p_{i} x_{i}^{\beta}, \\
\leq \left\{ \sum_{i=1}^{n} \left[\left(\sum_{j=1}^{n} |i-j| p_{j} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} | \Delta x_{j}^{a} |^{q} + \sum_{j=i}^{n} \bar{P}_{j+1} | \Delta x_{j}^{\alpha} |^{q} \right)^{1/q} \right] p_{i} x_{i}^{\beta} \quad (q > 1), \\
\max_{1 \leq k \leq n-1} | \Delta x_{k}^{\alpha} | \cdot \sum_{i=1}^{n} \left(\sum_{j=1}^{n} |i-j| p_{j} \right) p_{i} x_{i}^{\beta}.$$
(3.3)

Proof. Writing $x^{\gamma} = (x_1^{\gamma}, ..., x_n^{\gamma})$ for $\gamma > 0$, we see that

$$M_{\alpha+\beta}(X) - M_{\alpha}(X)M_{\beta}(X) = I(x^{\alpha}, x^{\beta}; p). \tag{3.4}$$

Hence we obtain the desired inequalities in (3.3) from Theorem 2.3.

Now in connection with the random variable X, consider a uniformly distributed random variable

$$U: \begin{pmatrix} x_1, \dots, x_n \\ \frac{1}{n}, \dots, \frac{1}{n} \end{pmatrix} \tag{3.5}$$

and its α -moment $M_{\alpha}(U) = (1/n) \sum_{i=1}^{n} x_i^{\alpha}$. Then we have the following proposition as an improvement of a result in [3, 4].

Proposition 3.2. *Under the above assumptions*,

$$\left| M_{\alpha}(X) - M_{\alpha}(U) \right| \\
\leq \left\{ \frac{1}{n} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} j \left| \Delta p_{j} \right| + \sum_{j=i}^{n} (n-j) \left| \Delta p_{j} \right| \right) x_{i}^{\alpha}, \\
\leq \left\{ \frac{1}{n} \sum_{i=1}^{n} \left[\left(S_{i-1} + S_{n-i} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} j \left| \Delta p_{j} \right|^{q} + \sum_{j=i}^{n} (n-j) \left| \Delta p_{j} \right|^{q} \right)^{1/q} \right] x_{i}^{\alpha} \quad (q > 1), \\
\frac{1}{n} \max_{1 \leq k \leq n-1} \left| \Delta p_{k} \right| \cdot \sum_{i=1}^{n} \left(S_{i-1} + S_{n-i} \right) x_{i}^{\alpha}, \\
(3.6)$$

 $\begin{aligned} \left| M_{\alpha}(X) - M_{\alpha}(U) \right| \\ & = \begin{cases} \frac{1}{n} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} j \left| \Delta x_{j}^{\alpha} \right| + \sum_{j=i}^{n} (n-j) \left| \Delta x_{j}^{\alpha} \right| \right) p_{i}, \\ \leq & \begin{cases} \frac{1}{n} \sum_{i=1}^{n} \left[\left(S_{i-1} + S_{n-i} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} j \left| \Delta x_{j}^{\alpha} \right|^{q} + \sum_{j=i}^{n} (n-j) \left| \Delta x_{j}^{\alpha} \right|^{q} \right)^{1/q} \right] p_{i} \quad (q > 1), \\ \frac{1}{n} \max_{1 \le k \le n-1} \left| \Delta x_{k}^{\alpha} \right| \cdot \sum_{i=1}^{n} \left(S_{i-1} + S_{n-i} \right) p_{i}, \end{aligned}$

(3.7)

where $S_k = k(k+1)/2$.

Proof. Let $\tilde{p} = (1/n, ..., 1/n)$. Then we see that

$$M_{\alpha}(X) - M_{\alpha}(U) = nI(p, x^{\alpha}; \tilde{p}), \qquad M_{\alpha}(X) - M_{\alpha}(U) = nI(x^{\alpha}, p; \tilde{p}). \tag{3.8}$$

Hence corresponding to the first or the second identity in the above (3.8), the first inequality in (3.6) or (3.7) is obtained immediately by Theorem 2.3. For the other inequalities in (3.6) and (3.7), notice that

$$nQ_i := \sum_{j=0}^{i-1} j + \sum_{j=i}^{n} (n-j) = S_{i-1} + S_{n-i}.$$
 (3.9)

Hence again from Theorem 2.3, we can obtain all desired inequalities.

A discrete guessing mapping G is defined [3, 4] as a special random variable

$$G: \begin{pmatrix} 1, \dots, n \\ p_1, \dots, p_n \end{pmatrix}. \tag{3.10}$$

Since $g^{\gamma} = (1^{\gamma}, ..., n^{\gamma}) \ (\gamma > 0)$ is nondecreasing and

$$M_{\alpha+\beta}(G) - M_{\alpha}(G)M_{\beta}(G) = I(g^{\alpha}, g^{\beta}; p) \quad (\alpha, \beta > 0), \tag{3.11}$$

we can obtain the following proposition as a refinement of a result in [3, 4] by using Theorem 2.6.

Proposition 3.3. *Under the above assumptions*,

$$\begin{split} M_{\alpha+\beta}(G) - M_{\alpha}(G)M_{\beta}(G) \\ & = \begin{cases} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} \Delta j^{\alpha}\right) p_{i} i^{\beta}, \\ & \leq \begin{cases} \sum_{i=1}^{n} \left[\left(\sum_{j=0}^{i-1} (i-j) p_{j}\right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} (\Delta j^{\alpha})^{q}\right)^{1/q}\right] p_{i} i^{\beta} & (q>1), \\ \max_{1 \leq k \leq n-1} \Delta k^{\alpha} \cdot \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} (i-j) p_{j}\right) p_{i} i^{\beta} \left(=\delta_{\alpha}(n) \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} (i-j) p_{j}\right) p_{i} i^{\beta}\right), \end{cases} \\ M_{\alpha+\beta}(G) - M_{\alpha}(G) M_{\beta}(G) \\ & = \begin{cases} -\sum_{i=1}^{n} \left(\sum_{j=i}^{n} \bar{P}_{j+1} \Delta j^{\alpha}\right) p_{i} i^{\beta}, \\ -\sum_{i=1}^{n} \left[\left(\sum_{j=i}^{n} (j-i) p_{j}\right)^{1-1/q} \left(\sum_{j=i}^{n} \bar{P}_{j+1} (\Delta j^{\alpha})^{q}\right)^{1/q}\right] p_{i} i^{\beta} & (q>1), \\ -\max_{1 \leq k \leq n-1} \Delta k^{\alpha} \cdot \sum_{i=1}^{n} \left(\sum_{j=i}^{n} (j-i) p_{j}\right) p_{i} i^{\beta} \left(=-\delta_{\alpha}(n) \sum_{i=1}^{n} \left(\sum_{j=i}^{n} (j-i) p_{j}\right) p_{i} i^{\beta}\right), \end{cases} \end{cases}$$
(3.12)

where

$$\delta_{\alpha}(n) = \max_{1 \le k \le n-1} |(k+1)^{\alpha} - k^{\alpha}| = \begin{cases} n^{\alpha} - (n-1)^{\alpha} & \text{if } \alpha \ge 1, \\ 2^{\alpha} - 1 & \text{if } 0 < \alpha < 1. \end{cases}$$
(3.13)

Let

$$V: \begin{pmatrix} 1, \dots, n \\ \frac{1}{n}, \dots, \frac{1}{n} \end{pmatrix} \tag{3.14}$$

be the size-*n* guessing mapping with the uniform probability distribution. Then, similarly as (3.8), we see that

$$M_{\alpha}(G) - M_{\alpha}(V) = nI(p, g^{\alpha}; \tilde{p}) \left(= nI(g^{\alpha}, p; \tilde{p}) \right), \quad \left(M_{\alpha}(V) = \frac{1}{n} \sum_{i=1}^{n} i^{\alpha} \right). \tag{3.15}$$

Hence we can obtain the following result by the similar argument as in Proposition 3.3.

Proposition 3.4. *Under the above assumptions*,

$$\begin{split} M_{\alpha}(G) &- \frac{1}{n} \sum_{i=1}^{n} i^{\alpha} \Big(= M_{a}(G) - M_{a}(V) \Big) \\ &\leq \begin{cases} \frac{1}{n} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} j \Delta j^{a} \right) p_{i}, \\ &\leq \begin{cases} \frac{1}{n} \sum_{i=1}^{n} \left[\left(\frac{i(i-1)}{2} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} j (\Delta j^{\alpha})^{q} \right)^{1/q} \right] p_{i} \quad (q > 1), \\ &\frac{1}{n} \delta_{\alpha}(n) \sum_{i=1}^{n} \frac{i(i-1)}{2} p_{i} \left(= \frac{1}{n} \delta_{\alpha}(n) \left(\frac{1}{2} E(G^{2}) - \frac{1}{2} E(G) \right) \right), \end{cases} \end{split}$$

$$M_{\alpha}(G) - \frac{1}{n} \sum_{i=1}^{n} i^{\alpha}$$

$$\geq \begin{cases} -\frac{1}{n} \sum_{i=1}^{n} \left(\sum_{j=i}^{n} (n-j) \Delta j^{a} \right) p_{i}, \\ -\frac{1}{n} \sum_{i=1}^{n} \left[\left(\frac{(n-i)(n-i+1)}{2} \right)^{1-1/q} \left(\sum_{j=i}^{n} (n-j) (\Delta j^{\alpha})^{q} \right)^{1/q} \right] p_{i} \quad (q>1), \\ -\frac{1}{n} \delta_{\alpha}(n) \sum_{i=1}^{n} \frac{(n-i)(n-i+1)}{2} p_{i} \left(= -\frac{1}{n} \delta_{\alpha}(n) \left(\frac{1}{2} E(G^{2}) - \frac{2n+1}{2} E(G) + \frac{1}{2} n(n+1) \right) \right). \end{cases}$$

$$(3.16)$$

Ozeki's inequality [6, 7, 8] (cf. [10, page 121]) is a complement of Cauchy-Schwarz inequality, which estimates the difference

$$I_2(a,b;p) := \sum_{i=1}^n p_i a_i^2 \sum_{i=1}^n p_i b_i^2 - \left(\sum_{i=1}^n p_i a_i b_i\right)^2 \quad (\ge 0)$$
 (3.17)

for positive *n*-tuples *a* and *b* with a probability distribution *p*. Note that

$$I(a^{2},b^{2};p) = \sum_{i=1}^{n} p_{i}a_{i}^{2}b_{i}^{2} - \sum_{i=1}^{n} p_{i}a_{i}^{2}\sum_{i=1}^{n} p_{i}b_{i}^{2},$$

$$I(ab,ab;p) = \sum_{i=1}^{n} p_{i}a_{i}^{2}b_{i}^{2} - \left(\sum_{i=1}^{n} p_{i}a_{i}b_{i}\right)^{2},$$
(3.18)

where $ab = (a_1b_1, ..., a_nb_n)$. Hence, we see that

$$I_2(a,b;p) = -I(a^2,b^2;p) + I(ab,ab;p).$$
(3.19)

From this fact, we obtain a new estimation of the difference $I_2(a,b;p)$ in terms of the first differences of a^2 and ab.

Proposition 3.5. *Under the above assumptions*,

 $I_2(a,b;p)$

$$\leq \begin{cases} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} \left| \Delta a_{j}^{2} \right| + \sum_{j=i}^{n} \bar{P}_{j+1} \left| \Delta a_{j}^{2} \right| \right) p_{i} b_{i}^{2} + \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} \left| \Delta (ab)_{j} \right| + \sum_{j=i}^{n} \bar{P}_{j+1} \left| \Delta (ab)_{j} \right| \right) p_{i} a_{i} b_{i}, \\ \sum_{i=1}^{n} \left[\left(\sum_{j=1}^{n} \left| i - j \right| p_{j} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} \left| \Delta a_{j}^{2} \right|^{q} + \sum_{j=i}^{n} \bar{P}_{j+1} \left| \Delta a_{j}^{2} \right|^{q} \right)^{1/q} \right] p_{i} b_{i}^{2} \\ + \sum_{i=1}^{n} \left[\left(\sum_{j=1}^{n} \left| i - j \right| p_{j} \right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} \left| \Delta (ab)_{j} \right|^{q} + \sum_{j=i}^{n} \bar{P}_{j+1} \left| \Delta (ab)_{j} \right|^{q} \right)^{1/q} \right] p_{i} a_{i} b_{i} \quad (q > 1), \\ \max_{1 \leq k \leq n-1} \left| \Delta a_{k}^{2} \right| \cdot \sum_{i=1}^{n} \left(\sum_{j=1}^{n} \left| i - j \right| p_{j} \right) p_{i} a_{i}^{2} + \max_{1 \leq k \leq n-1} \left| \Delta (ab)_{k} \right| \cdot \sum_{i=1}^{n} \left(\sum_{j=1}^{n} \left| i - j \right| p_{j} \right) p_{i} a_{i} b_{i}. \end{cases}$$

$$(3.20)$$

Proof. By (3.19) we see that

$$I_2(a,b;p) \le |I(a^2,b^2;p)| + |I(ab,ab;p)|.$$
 (3.21)

Hence, we can obtain the desired inequalities in (3.20) from Theorem 2.3.

For *n*-tuples *a*, *b* with an assumption of monotonicity, we have the following proposition.

Proposition 3.6. Let a, b be positive n-tuples and let p be a probability distribition. Assume that

$$(0 <) a_1 \le \dots \le a_n, \qquad (0 <) b_1 \le \dots \le b_n.$$
 (3.22)

Then,

$$I_{2}(a,b;p) \leq \begin{cases} \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} P_{j} \Delta(ab)_{j}\right) p_{i} a_{i} b_{i}, \\ \sum_{i=1}^{n} \left[\left(\sum_{j=0}^{i-1} (i-j) p_{j}\right)^{1-1/q} \left(\sum_{j=0}^{i-1} P_{j} (\Delta(ab)_{j})^{q}\right)^{1/q}\right] p_{i} a_{i} b_{i} \quad (q > 1), \\ \max_{1 \leq k \leq n-1} \Delta(ab)_{k} \cdot \sum_{i=1}^{n} \left(\sum_{j=0}^{i-1} (i-j) p_{j}\right) p_{i} a_{i} b_{i}. \end{cases}$$
(3.23)

Proof. Since all the n-tuples a^2 , b^2 , ab are nondecreasing, we see, by Čebyšev's inequality, that

$$I(a^2, b^2; p) \ge 0, I(ab, ab; p) \ge 0.$$
 (3.24)

Hence from (3.19)

$$I_2(a,b;p) \le I(ab,ab;p),$$
 (3.25)

so that from Theorem 2.6, we obtain the desired inequalities in (3.23).

References

- [1] D. Andrica and C. Badea, *Grüss' inequality for positive linear functionals*, Period. Math. Hungar. **19** (1988), no. 2, 155–167.
- [2] M. Biernacki, H. Pidek, and C. Ryll-Nardzewski, *Sur une inégalité entre des intégrales définies*, Ann. Univ. Mariae Curie-Skłodowska Sect. A. **4** (1950), 1–4 (French).
- [3] S. S. Dragomir and R. P. Agarwal, Some inequalities and their application for estimating the moments of guessing mappings, Math. Comput. Modelling 34 (2001), no. 3-4, 441–468.
- [4] S. S. Dragomir and N. T. Diamond, A discrete Grüss type inequality and applications for the moments of random variables and guessing mappings, Stochastic Analysis and Applications. Vol. 3, Nova Science Publishers, New York, 2003, pp. 21–35.
- [5] G. Grüss, Über des Maximum des absoluten Betrages von $(1/(b-a)) \int_a^b f(x)g(x)dx (1/(b-a)^2) \int_a^b f(x)dx \int_a^b g(x)dx$, Math. Z. **39** (1934), 215–226 (German).
- [6] S. Izumino, H. Mori, and Y. Seo, On Ozeki's inequality, J. Inequal. Appl. 2 (1998), no. 3, 235–253.
- [7] S. Izumino and J. E. Pečarić, A weighted version of Ozeki's inequality, Sci. Math. Jpn. **56** (2002), no. 3, 511–526.
- [8] ______, Some extensions of Grüss' inequality and its applications, Nihonkai Math. J. 13 (2002), no. 2, 159–166.
- [9] A. Lupaş, On an inequality, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. (1981), no. 716-734, 32–34.
- [10] D. S. Mitrinović, J. E. Pečarić, and A. M. Fink, Classical and New Inequalities in Analysis, Mathematics and Its Applications (East European Series), vol. 61, Kluwer Academic Publishers, Dordrecht, 1993.
- [11] J. E. Pečarić, *On an inequality of T. Popoviciu. I, II*, Bul. Şti. Tehn. Inst. Politehn. "Traian Vuia" Timişoara **24(38)** (1979), no. 2, 9–15.
- [12] _____, On some inequalities analogous to Grüss' inequality, Mat. Vesnik 4(17)(32) (1980), no. 2, 197–202.

Saichi Izumino: Department of Mathematics, Faculty of Education, Toyama University, 3190 Gofuku, Toyama 930-8555, Japan

E-mail address: izumino@edu.toyama-u.ac.jp

Josip E. Pečarić: Faculty of Textile Technology, University of Zagreb, Pierottijeva 6, $10\,000$ Zagreb, Croatia

E-mail address: pecaric@mahazu.hazu.hr

Božidar Tepeš: Faculty of Philosophy, University of Zagreb, I. Lučića 3, 10 000 Zagreb, Croatia *E-mail address*: btepes@ffzg.hr